
■ かけ算の答えを筆算で考えましょう。

① 11 × 8 ＝ ⑥ 38 × 4 ＝ ⑪ 21 × 8 ＝

× × ×

② 38 × 6 ＝ ⑦ 18 × 6 ＝ ⑫ 22 × 3 ＝

× × ×

③ 75 × 3 ＝ ⑧ 63 × 2 ＝ ⑬ 91 × 7 ＝

× × ×

④ 79 × 9 ＝ ⑨ 13 × 8 ＝ ⑭ 16 × 4 ＝

× × ×

⑤ 12 × 9 ＝ ⑩ 31 × 2 ＝ ⑮ 59 × 8 ＝

× × ×

かけ算の筆算
年 組 名前

/15



■ かけ算の答えを筆算で考えましょう。

① 11 × 8 ＝ ⑥ 38 × 4 ＝ ⑪ 21 × 8 ＝

1 1 3 8 2 1

× 8 × 4 × 8

8 8 1 5 2 1 6 8

② 38 × 6 ＝ ⑦ 18 × 6 ＝ ⑫ 22 × 3 ＝

3 8 1 8 2 2

× 6 × 6 × 3

2 2 8 1 0 8 6 6

③ 75 × 3 ＝ ⑧ 63 × 2 ＝ ⑬ 91 × 7 ＝

7 5 6 3 9 1

× 3 × 2 × 7

2 2 5 1 2 6 6 3 7

④ 79 × 9 ＝ ⑨ 13 × 8 ＝ ⑭ 16 × 4 ＝

7 9 1 3 1 6

× 9 × 8 × 4

7 1 1 1 0 4 6 4

⑤ 12 × 9 ＝ ⑩ 31 × 2 ＝ ⑮ 59 × 8 ＝

1 2 3 1 5 9

× 9 × 2 × 8

1 0 8 6 2 4 7 2

225 126 637

88 152 168

228 108 66

711 104 64

108 62 472
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